Algebra 1
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5. simplify:

Solve each problem. If necessary, round your answer to the nearest tenth (or tenth )
1) 102 is what percent of 127.5? 2) 10is what percent of 20? 20X ~ 1000
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5) 69% of what is 84.9?

. 6) 14 is 24% of what? 24 = 1400
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7) 134.4is 35% of what? 357% =13140 8) What percent of 84 is 1267 FHX = [2(:00
3. (24 x _he
60 (006 M

9) What percent of 87\77? ¥ x =%¥00

10) What is 86% of 1207 [b0% = 10320
x & = loo %o R 2 = 163,10
I S \/r (o0 20 N
pad -
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13) What percent of 121 is 58? Qo0 14) 7% of 29 is what? lopx = 2°2
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